H.0. COLUMN COVER SERIES (HOOK ON)

EXTERIOR & INTERIOR ™M DSCSP80
I -
*Any copy hereof issued by CARRITEC must be kept confidential and used by the recipient only for the specific
purpose for which it is issued in conjunction with materials supplied or purchased and listed hereon.
*Dimensions are imperial. g




H.0. COLUMN COVER SERIES (HOOK ON)

"
AS REQ.

H.O. COLUMN COVER SERIES (HOOK ON)
MATERIAL: AS REQUIRED

CORE: AS REQUIRED

BACKER: AS REQUIRED

FINISH: AS REQUIRED.

563"
AS REQ.
563"
AS REQ

EXISTING/ @

COLUMN

I
o e

- - +
= Ll
2 8
1L - 'Y
\
G
4 ( .
L Bls U
EXISTIN + EAEY +
COLUMN 2
J J +
| [N~ H.0. COLUMN COVER SERIES (HOOK ON) —, |
hJf MATERIAL: AS REQUIRED re{ys
< CORE: AS REQUIRED <
BACKER: AS REQUIRED N
FINISH: AS REQUIRED.
u‘jj
q1 4
] e}
g e g
o|x
P 2
<
ELEVATION A SECTION B SECTION C

EXTERIOR ™ INTERIOR & DSCSPS0

*Any copy hereof issued by CARRITEC must be kept confidential and used by the recipient only for the specific
purpose for which it is issued in conjunction with materials supplied or purchased and listed hereon.

*Dimensions are imperial.

TOLERANCES (UNLESS OTHERWISE SPECIFIED):
FRACTIONS: +1/64
ANGLES: +05

DECIMALS: - XX +0.03
- XXX +0.015




H.0. COLUMN COVER SERIES (HOOK ON)

10 CONCRETE SCREW
(TYP, BY OTHERS)

< OPTIONAL)

h i CARRITEC ROLLED CLOSURE ANGLE
MATERIAL: TO MATCH PANEL 1" 1"
FINISH: TO MATCH PANEL

FRAMING—_| b

"
MIN

(TYP, BY OTHERS)

SEE SECTION

| H.0. COLUMN COVER SERIES (HOOK ON) —— —
MATERIAL: AS REQUIRED
CORE: AS REQUIRED -

BACKER: AS REQUIRED
FINISH: AS REQUIRED. b o
\ #10 SELF DRILLING SCREW——— |

(TYP, BY OTHERS) o

EXISTING— | ~

~ COLUMN

e/ \ CARRITEC STD SUSPENSION POST
EXISTIN

SEE SéﬁTION

SEE SECTION

FRAMING L MATERIAL: 14 GA SATIN COAT
COLUMN (TYP, BY OTHERS) FINISH: NONE

DETAIL D DETAIL E

FRAMING

(TYP, BY OTHERS)\
7y

MATERIAL: AS REQUIRED
CORE: AS REQUIRED
BACKER: AS REQUIRED
FINISH: AS REQUIRED.

/ H.O. COLUMN COVER SERIES (HOOK ON)

1"
RN ﬁ] 1

SEE SECTION

G/ h
EXISTIN
COLUMN _]

#10 SELF DRILLING SCREW—"]
(TYP, BY OTHERS)

/

’\CARRITEC STD SUSPENSION POST

MATERIAL: 14 GA SATIN COAT
FINISH: NONE

%

6"
AS REQUIRED

\_(oPTIONAL)

CARRITEC ROLLED BASEBOARD
MATERIAL: TO MATCH PANEL
4 FINISH: TO MATCH PANEL

>

s \mo CONCRETE SCREW

(TYP, BY OTHERS)

EXTERIOR [ INTERIOR [ DSCSP80 DETAIL F

I —
*Any copy hereof issued by CARRITEC must be kept confidential and used by the recipient only for the specific
purpose for which it is issued in conjunction with materials supplied or purchased and listed hereon.
*Dimensions are imperial.

TOLERANCES (UNLESS OTHERWISE SPECIFIED):
FRACTIONS: +1/64
ANGLES: +05

DECIMALS: - XX+0.03
- XXX +0.015




(OPTIONALY

CARRITEC ROLLED BASEBOARD
MATERIAL: TO MATCH PANEL
FINISH: TO MATCH PANEL

MATERIAL: AS REQUIRED
CORE: AS REQUIRED
BACKER: AS REQUIRED
FINISH: AS REQUIRED.

H.O. COLUMN COVER SERIES (HOOK ON) \.

"

H.0. COLUMN COVER SERIES (HOOK ON)

"

CARRITEC STD SUSPENSION POST —
MATERIAL: 14 GA SATIN COAT
FINISH: NONE

#10 SELF DRILLING SCREW—"

(TYP, BY OTHERS)

#10 CONCRETE SCREW
(TYP, BY OTHERS)

FRAMIN:
(TYP, BY OTHERS)

XISTING
COLUMN

7

“

e

DETAIL G
(OPTION 1)

A2

EXISTING—_|

COLUMN \

CARRITEC ADJUSTABLE
SUSPENSION POST

/\/

10 CONCRETE SCREW
(TYP, BY OTHERS)

"

MATERIAL: 14 GA SATIN COAT <>

FINISH: NONE

#10 SELF DRILLING SCREW—"|
(TYP, BY OTHERS)

s

[——1/4-20 NUT AND BOLTS
%U FOR ADJUSTABLE
SUSPENSION

\_(OPTIONAL)

CARRITEC ROLLED BASEBOARD
MATERIAL: TO MATCH PANEL
FINISH: TO MATCH PANEL

EXTERIOR & INTERIOR & DSCSP80

DETAIL H
(OPTION 2)

*Any copy hereof issued by CARRITEC must be kept confidential and used by the recipient only for the specific

purpose for which it is issued in conjunction with materials supplied or purchased and listed hereon.

*Dimensions are imperial.

TOLERANCES (UNLESS OTHERWISE SPECIFIED):
FRACTIONS: +1/64
ANGLES: +05
DECIMALS: - XX+0.03
- XXX +0.015

H.O. COLUMN COVER SERIES (HOOK ON)
MATERIAL: AS REQUIRED

CORE: AS REQUIRED

BACKER: AS REQUIRED

FINISH: AS REQUIRED.

&y cARRITEC




